

① (a) We use the ratio test $\frac{a_{n+1}}{a_n} = \frac{2^{n+1}}{(n+1)!} = \frac{2^{n+1} n!}{2^n (n+1)!} = \frac{2}{n+1} \rightarrow 0 < 1$
as $n \rightarrow \infty$.

∴ therefore, $\sum_{n=0}^{\infty} \frac{2^n}{n!}$ converges by the ratio test.

② (b) $\frac{1}{n^2 \ln x} \leq \frac{1}{n^2}$ for $n \geq 2$, and $\sum_{n=2}^{\infty} \frac{1}{n^2}$ converges,
∴ $\sum_{n=2}^{\infty} \frac{1}{n^2 \ln(x)}$ converges by the comparison test.

③ (c) $|a_n| = \left| \frac{(-1)^n}{\ln(n)} \right| = \frac{1}{\ln(n)} \rightarrow 0$ as $n \rightarrow \infty$. (That is, the absolute values of the terms decrease to 0.) Therefore, the series converges by the alternating series test.

④ (d) We will use the ^{comparison} integral test. $\frac{1}{\ln(n)} > \frac{1}{n}$ and
 $\sum_{n=2}^{\infty} \frac{1}{n}$ diverges by the p-series test. Therefore,
 $\sum_{n=2}^{\infty} \frac{1}{\ln(n)}$ diverges by the comparison test.

(2) (a) ~~$\frac{a_{n+1}}{a_n}$~~ The center is $x_0 = 0$. The ratio of coefficients is

$$\left| \frac{a_{n+1}}{a_n} \right| = \frac{\frac{1}{n!}}{\frac{1}{(n+1)!}} = n+1 \rightarrow \infty \text{ as } n \rightarrow \infty. \text{ Therefore,}$$

the radius of convergence is infinite, that is, the series converges for all x . Since the series converges everywhere, there are no end points to analyze.

(b) The ratio of absolute values of ~~terms~~ coefficients is:

$$\frac{\frac{1}{(2n+1)!}}{\frac{1}{(2n)!}} \cdot \frac{|a_n|}{|a_{n+1}|} = \frac{2^n}{2^{n+1}} = \frac{1}{2} = r.$$

The center is 3, so the series converges for $x \in (2.5, 3.5)$

The series becomes $\sum_{n=0}^{\infty} 2^n \left(-\frac{1}{2}\right)^n = \sum_{n=0}^{\infty} (-1)^n$, not convergent at $x = 2.5$. Similarly, at $x = 3.5$, the series becomes

$$\sum_{n=0}^{\infty} 1, \text{ not convergent.}$$

(c) The ratio of absolute values of coefficients is

$$\frac{|a_n|}{|a_{n+1}|} = \frac{1}{\frac{1}{n+1}} = \frac{n+1}{n} = 1 + \frac{1}{n} \rightarrow 1 \text{ as } n \rightarrow \infty, \text{ and}$$

the center of convergence is $x_0 = 1$. Therefore, the series converges for $|x-1| < 1$, that is $0 < x < 2$. At $x = 0$,

the series becomes $\sum_{n=0}^{\infty} \frac{(-1)^{2n}}{n+1} = \sum_{n=0}^{\infty} \frac{1}{n+1}$, which

diverges by the p-series test (with the substitution $m = n+1$).

At $x = 2$, the series becomes the alternating series

$\sum_{n=0}^{\infty} \frac{(-1)^n}{n+1}$, which converges by the alternating series

test. Therefore, $\sum_{n=0}^{\infty} \frac{(-1)^n}{n+1} (x-1)^n$ converges for

$$\boxed{x \in (0, 2]}$$

(2) (d) The ratio of terms is $\frac{a_n}{a_{n+1}} = \frac{n!}{(n+1)!} = \frac{1}{n+1} \rightarrow 0$ as $n \rightarrow \infty$.

Thus, the radius of convergence is 0, that is, the series converges for no x except at its center $x=0$.

(All terms are equal to 0 at $x=0$.)
